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DIPLOMA IN VALUE ADDED PRODUCTS 
FROM FRUITS AND VEGETABLES 

(DVAPFV) 

Term-End Examination 

December, 2013 

BPVI-001 : FOOD FUNDAMENTALS 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 
marks. 

1. (a) What are the nutrients required for our body 
and what are their functions ? 	5+5=10 

(b) What are the main causes of food 
deterioration and their effects on human 
health ? 

2. (a) Explain in brief the HACCP system of 
quality assurance. 	 5+5=10 

(b) What are the functions of Codex 
Alimentarius ? 

3. (a) Draw a 'Process Flow Chart' of Modern 
Rice Milling. 	 5+5=10 

(b) What are physical methods of assessing the 
maturity of fruits and vegetables. ? 

4. What do you understand by 'Post Harvest 10 
Management' of fruits and vegetables ? 

5. Describe in brief any two methods for protection 10 
and preservation of perishable foods. 
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6. (a) What do you understand by Hygiene and 5+5 
sanitation in food processing ? 

(b) What are the different physical treatments 
recommended for food to control spoilage ? 

7. (a) What do you understand by 'Packaging for 5+5 
Food Safety' ? 

(b) Name a few characteristic traditional Foods 
of India along with their major raw 
material. 

8. Write short notes on any four. 	 2.5x4=10 
(a) Hot water treatment of Horticulture 

produce to reduce losses. 
(b) General characteristics of milk 
(c) Processing of poultry meat 
(d) Spices and their importance 
(e) Food Pyramid 
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6. (a) 
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